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These are the questions for the Missouri State High School Activities Association’s District Academic Competition. They are written by the Scholastic Bowl Company of Virginia, Inc. 

Users of these questions are subject to terms and conditions of the Missouri State High School Activities Association. 
First period: 15 tossups
TOSSUP 1
LITERATURE-US Literature

It is the second poem in Tales of a Wayside Inn. It describes an event that took place on the night of April 18, 1775, before the battles of Lexington and Concord. What poem by Longfellow begins, ‘Listen my children and you shall hear?’


ANSWER: Paul Revere’s Ride
TOSSUP 2
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. You make $13 an hour, and work 44 hours in a week. For hours after the 40th, you get 1½ times your hourly rate. What was your gross pay for the week?

ANSWER:  $598

TOSSUP 3
SCIENCE-Physics

Most of these have a large band gap. They are characterized by not having outer electrons which are easily excited. They are the same thing as dielectrics. Examples include the plastic outer wrappings of electric cords. What materials resist the flow of electricity? 


ANSWER: insulators (accept insulator)

TOSSUP 4
SOCIAL STUDIES-World history 

This office’s occupant could not leave Italy and did not have power of taxation. Its normal term was six months, but Sulla and Caesar held this office for life. What office, created by the Roman Senate for emergencies, is today synonymous with ‘tyrant?’ 


ANSWER: dictator
TOSSUP 5
MISCELLANEOUS-Current events

This program was authorized by Title XXI of the Social Security Act. 671,000 adults were covered by it in 2006, despite its name. In December 2007, President Bush vetoed the expansion of what program that funds young people’s medical insurance?


ANSWER: S-CHIP (said as: ‘ess-chip’) or State Children’s Health Insurance Program
TOSSUP 6
LITERATURE-US literature

It was the first novel to receive a Papal blessing. The title character marries Esther, the daughter of Simonides, and becomes a Christian. In what Lew Wallace novel does Messala nearly die in the chariot race? 


ANSWER: Ben-Hur
TOSSUP 7
SCIENCE-Famous scientists
After Edward Teller’s testimony, his security clearance was revoked in 1954. Who was the scientific director of the Manhattan Project and hence ‘father of the atomic bomb?’   


ANSWER: J. Robert Oppenheimer
TOSSUP 8
MATH-Algebra

THIS IS A COMPUTATION QUESTION.  One painter can paint a house in four hours and another painter takes six hours.  How many minutes will it take them if they work together?  


ANSWER:  144 minutes

TOSSUP 9
FINE ARTS-Painting
The artist’s sister Nan and a local dentist, Byron McKeeby, were the models for this picture, along with a house in Eldon, Iowa. A woman stands to the left of a pitchfork-holding man in what painting by Grant Wood? 


ANSWER: American Gothic
TOSSUP 10
SOCIAL STUDIES-Civics

Michael Badnarik was this party’s Presidential candidate in 2004. What political party’s 15-point platform calls for ending gun control, corporate welfare, and the War on Drugs? 


ANSWER: Libertarian Party

TOSSUP 11
LANGUAGE ARTS-Vocabulary

This word refers to a 10-point typeface used in typewriters. It comes from a French word meaning ‘to choose.’ What word refers to the best of something, especially soldiers, or to high-class people in general? 


ANSWER: elite(s)

TOSSUP 12
SOCIAL STUDIES-World history

Former leaders of this country include Canaan Banana, who made it illegal to make jokes about his name, and Ian Smith, who unilaterally declared independence in 1965 from Great Britain. What nation, once known as Rhodesia, is now misled by Robert Mugabe? 


ANSWER: Zimbabwe
TOSSUP 13
LITERATURE-Mythology
His wife is Sif, and his sons are Modi and Magni. He will slay, and be slain by, the serpent Jormungard (YOR-moon-gard) at Ragnarok. The hammer Mjolnir (mee-YOAL-neer) belongs to what Norse god of thunder? 

ANSWER: Thor or Thunaer or Thunor or Donar
TOSSUP 14
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION.  Joe runs 3.1 miles daily and runs each day during the month of August.  How many miles does he run in the entire month?
ANSWER:  96.1

TOSSUP 15
SCIENCE-Chemistry

This element is mined from ores that include pitchblende. Its ‘depleted’ form is used in high-penetration artillery shells. What element, the heaviest element that occurs naturally, has atomic number 92 and atomic symbol U? 


ANSWER: uranium
Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
LITERATURE-World literature
Raphael describes this fictional country, set on a crescent-shaped island. Its citizens only need to work six hours a day and health care is entirely free. The Greek words for ‘no place’ provided the name for what country created by Thomas More? 

ANSWER: Utopia
BONUS 16
MISCELLANEOUS-Pop culture
This bonus was written on a Wednesday. Name these shows that aired on Wednesday, January 23, 2008. 

A.
The ‘Major Case Squad’ investigated the death of a budding novelist in what spin-off series?


ANSWER: Law & Order: Criminal Intent (DO NOT accept or prompt on ‘Law & Order’)

B.
Jo Frost got the Terrill family back in shape. 


ANSWER: Supernanny
C.
Aaron Hotchner and his team found evidence a serial killer was using a self-storage unit. 


ANSWER: Criminal Minds
D.
Mark Walberg and a lie detector appear in what TV series?


ANSWER: The Moment of Truth
TOSSUP 17
SCIENCE-Biology

Its scientific name is Ursus arctos horribilis. In 2006, Canadian hunters found a hybrid between this animal and a polar bear. In 2007, what bear species’ Endangered Species Act protection was removed around Yellowstone?


ANSWER: grizzly bear(s) or grizzlies (prompt on ‘brown bear’)

BONUS 17
MATH-Geometry

THIS IS A COMPUTATION QUESTION. Consider the rectangle with length of 8 centimeters and perimeter of 30 centimeters.  Now:

A.
Find the area of the rectangle.


ANSWER:  56 cm2
B.
Find the diagonal of the rectangle.


ANSWER:  the square root of 113 centimeters
C.
Another rectangle is similar to this one and has a perimeter of 15 centimeters.  Find its area.


ANSWER:  14 cm2
D.
A third rectangle is also similar to the other two and has a length of 40 centimeters.  Find the ratio of the area of this rectangle to the area of the original rectangle.


ANSWER:  25 to 1  

TOSSUP 18
SOCIAL STUDIES-World history

It was built in 1383 as a fortress during the Hundred Years’ War. It became a prison, but at the time of its closing around four centuries later, it held only seven prisoners. What building was stormed on July 14, 1789, starting the French Revolution? 


ANSWER: Bastille
BONUS 18
LANGUAGE ARTS-Foreign language

Answer these questions about French grammar. Spell out the answers when asked for a French word. 

A.
What third-person singular pronoun is gradually replacing ‘nous’ (noo) to mean ‘we?’


ANSWER: o n
B.
What word goes with ‘ne’ (neh) to signify ‘never?’


ANSWER: j a m a i s
C.
What demonstrative adjective can mean both ‘these’ and ‘those’ in English?


ANSWER: c e s
D.
What is the plural of ‘cheval’ (sheh-VAHL), which means ‘horse’ in English?


ANSWER: c h e v a u x
TOSSUP 19
MATH-Computer science

This key has an ASCII value of 27. It was originally used to control peripherals, but is now used in applications to stop things or close message windows. What is this key located on a keyboard’s upper left?


ANSWER: Esc or escape
BONUS 19
SOCIAL STUDIES-Geography

Given a river or rivers, name the river that it flows into.

A.
Snake and Yakima Rivers.

ANSWER: Columbia River

B.
Tennessee River.


ANSWER: Ohio River

C.
Kansas River.



ANSWER: Missouri River

D.
Green and Gila (HEE-lah) Rivers.
ANSWER: Colorado River


TOSSUP 20
SCIENCE-Chemistry

THIS IS A COMPUTATION QUESTION. How many protons are in a molecule of lactic acid, a compound whose chemical formula is C3H6O3? 


ANSWER: 48 

BONUS 20
LITERATURE-US Literature

Given a line from a Robert Frost poem, name the poem.

A.
‘But if it had to perish twice, / I think I know enough of hate.’ 


ANSWER: ‘Fire and Ice’ 
B.
‘Two roads diverged in a yellow road.’


ANSWER: ‘The Road Not Taken’

C.
‘He says again, “Good fences make good neighbors.”’


ANSWER: ‘Mending Wall’

D.
‘“Warren,” she questioned. / “Dead,” was all he answered.’


ANSWER: ‘The Death of the Hired Man’

TOSSUP 21
MISCELLANEOUS-Current events

When she died, the other passengers in the car were Henri (awn-REE) Paul, Trevor Rees-Jones, and Dodi al-Fayed. In 2007, an inquest was re-opened into the 1997 death of what woman, the former Princess of Wales? 


ANSWER: Diana, Princess of Wales (accept Princess Diana)

BONUS 21
SCIENCE-Men of science 

Identify these famous experiments.

A.
What 1887 experiment disproved the existence of luminiferous ether?


ANSWER: Michelson-Morley experiment

B.
Hans Geiger and Ernest Marsden did all the work for the gold foil experiment overseen by what discoverer of the atomic nucleus? 


ANSWER: Ernest Rutherford
C.
Along with Harvey Fletcher, who conducted the oil-drop experiment to measure the electron’s electric charge? 


ANSWER: Robert Millikan
D.
This experiment conducted by a Yale psychologist revealed people would submit to authority, pushing the electric shock button if someone told them to. 


ANSWER: Milgram experiment

TOSSUP 22
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION.  Estimate the answer to the following question to the nearest whole number:  3005 divided by 49.8.
ANSWER:  60

BONUS 22
SOCIAL STUDIES-US History

Answer these questions about a short Presidency. 

A.
What President was shot on July 2, 1881?


ANSWER: James A. Garfield
B.
When Garfield died on September 19, 1881, who became President?


ANSWER: Chester A. Arthur
C.
Garfield’s Secretary of State was what man from Maine, the 1884 Republican Presidential nominee? 


ANSWER: James G. Blaine
D.
What 1883 law reformed the United States Civil Service and ended the spoils system?


ANSWER: Pendleton Civil Service Reform Act

TOSSUP 23 
LITERATURE-World literature
This author’s fans celebrate his life every June 16, a holiday known as ‘Bloomsday.’ Who wrote the short story collection Dubliners, as well as the novels Finnegans Wake and Ulysses? 

ANSWER: James Joyce
BONUS 23
LITERATURE-Philosophy
Identify these Greek philosophers.
A.
He wrote The Republic.

ANSWER: Plato
B.
This philosopher founded a cult which had two classes of members: the listeners and the mathematicians. 


ANSWER: Pythagoras
C.
He wandered the streets of Athens with a lantern, looking for an honest man.


ANSWER: Diogenes of Sinope or Diogenes the Cynic

D.
Whose famous paradoxes included Achilles and the tortoise?


ANSWER: Zeno of Elea

TOSSUP 24
FINE ARTS-Classic cinema
He co-starred with Olivia de Havilland in Santa Fe Trail and Dodge City, but did not have an affair with her. He starred in Adventures of Don Juan, The Adventures of Robin Hood, and Captain Blood. A 1940s slang expression was to be ‘in like’ what actor? 

ANSWER: Errol Flynn
BONUS 24
MATH-Algebra

THIS IS A COMPUTATION QUESTION.  Consider the quadratic equation with roots of negative five and positive three.  Now:

A.
Find the equation, in quadratic form, by finding the sum and product of the roots.


ANSWER:  x2+2x-15=0 or 0= x2+2x-15
B.
Find the y-intercept of the graph of this parabola. 


ANSWER:  -15
C.
Find the h, k form of the equation. Complete the square as part of this process.


ANSWER:  y=(x+1)2-16 or y=(x+1)2-16
D.
As an ordered pair, find the vertex of the graph.


ANSWER:  (-1, -16)
TOSSUP 25
SOCIAL STUDIES-US history

It established a thirteen-member Committee of the States and pre-approved entry for Canada. Maryland’s ratification put it into effect in 1781. Rhode Island rejected an amendment to allow tariffs. In 1788, what document was replaced by the Constitution? 


ANSWER: Articles of Confederation
BONUS 25
SCIENCE-Biology

Name these diseases.

A.
In 1979, the World Health Organization declared this disease ‘eradicated.’


ANSWER: smallpox
B.
Vaccines by Jonas Salk and Albert Sabin have nearly eradicated what disease?


ANSWER: poliomyelitis or infantile paralysis
C.
Caused by four protozoan species in Plasmodium (plaz-MOH-dee-um), it was once called ‘marsh fever.’ 


ANSWER: malaria
D.
Jeanna Giese (ghee-she) is the only known non-vaccinated survivor of this disease, also known as hydrophobia.


ANSWER: rabies
HALFTIME

Third period: 15 toss-ups
TOSSUP 26
SCIENCE-Physics

Changes in this quantity are described by Newton’s Second Law. Its linear variety is a vector and its angular variety is a pseudovector. Photons can have it, despite not having a mass at rest. What quantity in physics is the product of mass and velocity? 


ANSWER: momentum
TOSSUP 27
MATH-Geometry

THIS IS A COMPUTATION QUESTION.  A tree is 60 feet tall.  A line from the top of the tree to a point on the ground several feet away from the tree is 120 feet.  How far is the point on the ground from the base of the tree?


ANSWER:  60 times the square root of 3 feet
TOSSUP 28
MISCELLANEOUS-Driver’s education
An ancient version of this consisted of a gear on a chariot wheel that dropped a pebble in a box after a mile had been traveled. By the 19th century, each digit got its own gear. It is a crime to roll back one of what device that indicates how many miles a car has traveled? 

ANSWER: odometer(s) or milometer
TOSSUP 29
SOCIAL STUDIES-US history

Its last national candidate was Millard Fillmore, as its former members joined the Know-Nothing and Constitutional Union Parties. Between the 1830s and 1850s, the Democrats were opposed by what political party? 


ANSWER: United States Whig Party

TOSSUP 30
LITERATURE-US literature
He imagines himself as a Navy pilot, a surgeon, an assassin, and a Royal Air Force pilot in his ‘Secret Life.’ He imagines these to cope with his wife’s perceived nagging. Who is this daydreamer created by James Thurber? 

ANSWER: Walter Mitty (prompt on partial answer)
TOSSUP 31
FINE ARTS-Music theory
It is called a crotchet in ‘British’ terminology. A rest of the same length resembles a distorted numeral ‘3.’ It is called a ‘black’ in French and Spanish, as it is the longest note to be filled in modern notation. If a whole note is 4 beats long, what note is 1 beat? 

ANSWER: quarter note

TOSSUP 32
SCIENCE-meteorology

If this section of the atmosphere is below 220 Dobson units in thickness, it has a hole. The Montreal Protocol was designed to protect it by outlawing CFCs. What layer of the Earth’s atmosphere absorbs ultraviolet light and has oxygen molecules with three atoms? 


ANSWER: ozone layer
TOSSUP 33
LITERATURE-US literature
He wrote the novel Franklin Evans but spent most of his life updating his poetry collection. Who wrote the poems ‘Calamus,’ ‘Song of Myself,’ ‘O Captain! My Captain!’ and ‘When Lilacs Last in the Dooryard Bloom’d’ in his collection, Leaves of Grass?

ANSWER: Walt Whitman
TOSSUP 34
SOCIAL STUDIES-US History

He was shot in Taylorsville, Kentucky. His lieutenants Archie Clement and ‘Bloody Bill’ Anderson emerged as leaders after the Lawrence Massacre. Jesse James served with what leader of pro-Confederate ‘Raiders’ in Missouri?  


ANSWER: William Clarke Quantrill
TOSSUP 35
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION.  How many hours are in 15 days and 8 hours?

ANSWER:  368

TOSSUP 36
LANGUAGE ARTS-Vocabulary

One meaning of this word refers to an agricultural showcase sponsored by a county or state. In reference to complexion, it means light-skinned. What word most often means unbiased and able to offer solid judgment?   


ANSWER: fair
TOSSUP 37
MATH-Geometry

THIS IS A COMPUTATION QUESTION.  In hexagon ABCDEF, angles A and B are equal and the other four angles are equal.  The ratio of angle A to angle C is three to one.  Find one of the small angles in the hexagon. 


ANSWER:  72 degrees
TOSSUP 38
LITERATURE-US literature
Her first work was The Decoration of Houses. Her last novel, The Buccaneer, was unfinished at her 1937 death. Who created the characters of Mattie Silver and Newland Archer in, respectively, Ethan Frome and The Age of Innocence? 

ANSWER: Edith Wharton
TOSSUP 39
SCIENCE-Geology

Andrew Lawson, a University of California geology professor, discovered it in 1895. It is part of the boundary between the Pacific and North American Plates. Most earthquakes in California occur along what major fault?  


ANSWER: San Andreas Fault

TOSSUP 40
SOCIAL STUDIES-Geography

This region’s highest peak is Snowdon. The Isle of Anglesey is to the northwest. Gwynedd is one its counties, and cities include Swansea and Newport. Cardiff is the capital of what region of the United Kingdom? 


ANSWER: Wales
Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION.  A wheel makes 7200 revolutions per hour.  Find the number of revolutions in 15 seconds.
ANSWER:  30

BONUS 41
MISCELLANEOUS-Classic pop culture
Answer these questions about our King.

A.
What King of Rock allegedly departed our world on August 16, 1977?


ANSWER: Elvis Presley
B.
Down at the end of Lonely Street is what landmark, the name of Elvis’ first Number One hit in the United States


ANSWER: Heartbreak Hotel
C.
In 1955, who became Elvis’ manager?


ANSWER: ‘Colonel’ Tom Parker or Andreas Cornelis van Kuijk
D.
You’ll be ‘caught in a trap’ of zero points if you can’t identify Elvis’ last American Number One hit?


ANSWER: Suspicious Minds
TOSSUP 42
SCIENCE-Biology

Its top is the fundus and its lining is the endometrium (en-doh-mee-TREE-um). It extends between the cervix and the fallopian tubes. What organ is removed in a hysterectomy and contains growing fetuses? 


ANSWER: uterus or womb
BONUS 42
SOCIAL STUDIES-World history

Answer these questions about an Empire.

A.
What Empire was formed when the Roman Empire’s capital was moved in 330 AD, and survived until 1453 AD?


ANSWER: Byzantine Empire or Eastern Roman Empire

B.
What city was the capital of the Empire for most of that time?


ANSWER: Constantinople (not Istanbul)

C.
Who ruled between 527 and 565 AD, expanding the Byzantine Empire and reforming its law codes?


ANSWER: Justinian the Great or Justinian I (technically, it’s Flavius Petrus Sabbatius Justinianus)
D.
Which of the Crusades didn’t attack any Muslim cities, but instead sacked Constantinople in 1204?

 
ANSWER: Fourth Crusade

TOSSUP 43
LITERATURE-World literature
She says the line, ‘Walk! Not bloody likely…’ and ultimately marries Freddy Eynsford-Hill. She hopes to work in a flower shop but is told she can talk like a duchess. In Pygmalion, Henry Higgins teaches culture to what Cockney flower girl? 

ANSWER: Eliza Doolittle

BONUS 43
MATH-Geometry

THIS IS A COMPUTATION QUESTION.  Consider the circle with center at O and a radius of 6 cm. Angle AOC 60 degrees.  Now:

A.
Find the measure of angle AOC in radians.


ANSWER:  pi/3 radians

B.
Find the length of the minor arc AC.


ANSWER:  2pi centimeters
C.
Find the area of the sector determined by angle AOC.


ANSWER:  6pi centimeters squared
D.
Now add a chord from A to C.  This divides the sector AOC into a triangle and a small crescent shaped figure.  Find the area of the crescent figure by first finding the area of triangle AOC.


ANSWER:  6pi – 9 times the square root of 3 centimeters squared
TOSSUP 44
SOCIAL STUDIES-Geography

It is 630 feet wide at its base and is 630 feet tall. It is part of the Jefferson National Expansion Memorial, along with the Old Courthouse and the Museum of Westward Expansion. Eero Sarinen designed it. What tallest monument in the world is in St. Louis? 


ANSWER: Gateway Arch
BONUS 44
LITERATURE-World literature
Identify these items from the novel Nineteen Eighty-Four. 
A.
The novel is set in what fictional country? 


ANSWER: Oceania
B.
What language is being developed to gradually replace English?


ANSWER: Newspeak
C.
During the Two Minute Hate, who calls for freedom of speech and speaks out against Big Brother?


ANSWER: Emmanuel Goldstein
D.
Who is the Inner Party member that tortures Winston in Room 101?


ANSWER: O’Brien
TOSSUP 45
LANGUAGE ARTS-Grammar

Consider the sentence, ‘She is a hard worker.’ What is the role of the noun, ‘worker?’


ANSWER: predicative or predicate nominative or predicate noun
BONUS 45
SCIENCE-Chemistry

Answer these related questions about hydrocarbons:

A.
What 11-letter word describes a hydrocarbon, such as pentene [PEN-teen], that does not have the maximum possible number of hydrogen atoms?

ANSWER:
unsaturated
B.
You know that a molecule has the molecular formula C6H10, and contains only single and double bonds. How many double bonds must it have?

ANSWER:
2 [If it were unsaturated, it would have 14 hydrogens.]

C.
Most larger hydrocarbons exhibit what weakest form of isomerism [eye-SAH-muh-rizm] in which the atoms exhibit different bonding patterns?

ANSWER:
structural or constitutional isomers

D.
Substituted hydrocarbons can also exhibit stereoisomerism around individual carbon atoms. In the IUPAC system, what two letters are used to designate the stereochemistry of such isomers?

ANSWER:
R and S
TOSSUP 46
MATH-Algebra

THIS IS A COMPUTATION QUESTION.  The absolute value of the quantity x minus 12 is less than or equal to 6. (
[image: image1.wmf]126
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-£

) What is the range of possible answers for x?         
ANSWER:  6 is less than or equal to x which is less than or equal to 18  or  from 6 to 18 inclusive
BONUS 46
SOCIAL STUDIES-Civics

Answer these questions about other countries’ governments.

A.
What are the two Houses of the British Parliament?


ANSWER: House of Commons and House of Lords
B.
The Knesset is the parliament of what country, whose political parties include Kadima, Labor, Likud, and the United Arab List?


ANSWER: Israel
C.
What is the name of the Japanese parliament?


ANSWER: Diet or Kokkai
D.
Jack Layton is the head of what left-wing Canadian political party?


ANSWER: New Democratic Party or NDP
TOSSUP 47
LITERATURE-Religion
Men who undergo it wear clothing called ihram. Parts of it include the Stoning of the Devil and walking seven times around the Kaaba. Every Muslim who is able must make at least one during his lifetime. What fifth pillar of Islam is a pilgrimage to Mecca? 

ANSWER: hajj (accept pilgrimage to Mecca before it is said)
BONUS 47
SCIENCE-Astronomy

Answer these questions about stellar life cycles.

A.
If a star is above 1.4 solar masses, it can become what object from which light cannot escape?


ANSWER: black hole(s)

B.
Pulsars are one type of what very dense objects, about twice as massive as the Sun, but only 30 kilometers in diameter?


ANSWER: neutron star(s)

C.
Stars below 1.4 solar masses are condemned to be what type of degenerate star that eventually becomes a black dwarf? 


ANSWER: white dwarf or white dwarves
D.
On the way to becoming a white dwarf, the Sun will become what type of star, examples of which include Betelgeuse (bay-tel-JOOZ)? 


ANSWER: red giant or red supergiant
TOSSUP 48
MISCELLANEOUS-Pop culture
He received an ‘Outstanding’ in his Herbology OWL, but his grandmother was disappointed in his Transfiguration grade. Who slew the snake Nagini with one swing of Gryffindor’s sword in Harry Potter and the Deathly Hallows? 

ANSWER: ANSWER: Neville Longbottom (accept either by itself)

BONUS 48
LITERATURE-US Literature
Identify these Jewish writers from works.

A.
The Natural, The Fixer.


ANSWER: Bernard Malamud
B.
Portnoy’s Complaint, The Plot Against America.


ANSWER: Philip Roth
C.
‘The New Colossus.’


ANSWER: Emma Lazarus
D.
My Name is Asher Lev, The Chosen.

ANSWER: Chaim Potok
TOSSUP 49
SOCIAL STUDIES-US History 

It was introduced in 1971 by Senator Jennings Randolph in response to the Supreme Court case of Oregon v. Mitchell. In under four months, thirty-nine states had ratified it. What Constitutional Amendment gave the vote to eighteen-year-olds? 


ANSWER: 26th Amendment 

BONUS 49
FINE ARTS-Dance
Answer these questions about ballet. 
A.
How many basic positions are in ballet, assuming we don’t count the two Serge Lifar invented? 


ANSWER: five
B.
What term describes dancing on the tips of the toes while wearing ballet shoes? 


ANSWER: en pointe or pointe work
C.
What is the waist-high handrail used during exercises?


ANSWER: barre (said as, ‘bar,’ but it could be said as ‘bar-ray’)
D.
What pose is similar to an arabesque, but with the knee somewhat bent?


ANSWER: attitude
TOSSUP 50
SCIENCE-Biology

This class gets its name from the Greek for ‘both’ and ‘life.’ Several species, including the coquí (koh-KEE), do not go through a water-bound larval stage. What class of vertebrates includes salamanders, frogs and toads?

ANSWER: amphibian(s) or Amphibia
BONUS 50
MATH-Computer science

Answer these questions about computer peripherals. 

A.
What peripheral translates digital data into analog signals, making it possible to use analog phone wires to communicate between computers?


ANSWER: modem

B.
PS/2 connectors for keyboards and mice are being replaced with what connectors, also used for thumb-sized flash drives?


ANSWER: USB or Universal Serial Bus
C.
These three words describe the ability of a Windows-based computer to automatically assign interrupts and I/O addresses to newly installed peripherals. 


ANSWER: Plug-and-play
D.
The Ultra-640 is the current and 4 gig fibre channel are the current standards of what means of connecting peripherals so they can communicate with a computer?


ANSWER: SCSI
END OF MATCH

Spare questions
TOSSUP 51
SOCIAL STUDIES-Economics

A market is defined as one of these if the four market leaders have more than a 40% market share. Its biggest risk is industry leaders colluding to form a cartel. The automobile industry is an example of what market model, dominated by a few sellers? 


ANSWER: oligopoly
BONUS 51
LITERATURE-World literature
Answer these questions about Sherlock Holmes.
A.
Who created the character of Sherlock Holmes?


ANSWER: (Sir) Arthur Conan Doyle
B.
On what London street did Holmes live with Watson?


ANSWER: (221-B) Baker Street

C.
All or nothing: Name any TWO of the four novels featuring Holmes.


ANSWER: (any two of) A Study in Scarlet, The Sign of the Four, The Hound of the Baskervilles, The Valley of Fear
D.
In ‘A Scandal in Bohemia,’ what woman outsmarts Holmes?


ANSWER: Irene Adler (accept either)
TOSSUP 52
MISCELLANEOUS-Classic pop culture
His last name is Rockatansky and he is part of the Main Force Patrol. He fights gangs led by the Toecutter and the Lord Humungous, and later infiltrates Auntie Entity’s Bartertown. Three dystopian movies feature what character, played by Mel Gibson? 


ANSWER: Mad Max
BONUS 52
FINE ARTS-Painting

Identify these pieces of religious art.
A.
You had your art license taken away if you didn’t produce at least one of what ubiquitous portraits of the Virgin Mary? 


ANSWER: Madonna(s)
B.
The Garden of Earthly Delights was what type of altarpiece that had three sections?



ANSWER: triptych 

C.
Three decades after finishing the Sistine Chapel’s ceiling, Michelangelo worked on what mural on the chapel’s altar wall?


ANSWER: The Last Judgment
D.
What city is associated with the 130-foot tall statue, Christ the Redeemer? 

ANSWER: Rio de Janiero, Brazil (prompt on ‘Rio’)
TOSSUP 53
SCIENCE-Biology

Varieties of this legume include Runner, Valencia, Spanish, and Virginia. It was called ‘earth cacao’ by the Aztecs. It is the most common cause of death from food allergy. What legume is also called a goober? 

ANSWER: peanut(s) or groundnut(s)

BONUS 53
LANGUAGE ARTS-Vocabulary

Identify these words that can be used in the world of sports from their non-sporting meanings. 

A.
It is the body part operated on during a rhinoplasty. 


ANSWER: nose(s)
B.
This word refers to a written order to transfer money or to inquire about something. 


ANSWER: check(s)
C.
This word refers to either a sudden loud noise or to organized illegal business, such as the ‘numbers.’ 


ANSWER: racket(s)

D.
In urban planning, this word refers to an area devoted to residential, industrial, or commercial building. 


ANSWER: zone(s) or zoned
TOSSUP 54
MATH-Algebra

THIS IS A COMPUTATION QUESTION.  Solve the following equation for x:  125 to the 2x-2 power equals 5 to the 7x power.  1252x-2 = 57x

ANSWER:  x= -6
BONUS 54
SCIENCE-Biology

Answer these questions about biological building blocks.

A.
What molecule contains a carboxyl group and is named for the NH2 group attached to the central carbon atom?


ANSWER: amino acid(s)

B.
Amino acids form what type of chain that then constructs proteins?


ANSWER: peptide or polypeptide
C.
What adjective describes amino acids that the body cannot produce on its own?


ANSWER: essential or indispensable
D.
What amino acid is the simplest, with only a hydrogen atom as the R-group?


ANSWER: glycine
TOSSUP 55
FINE ARTS-Classical music
His ‘Manfred’ symphony is between his 4th and 5th symphonies. His first work was the Romeo and Juliet fantasy overture. He wrote the operas The Queen of Spades and Eugene Onegin. Who celebrated the Russian defeat of Napoleon in the 1812 Overture?

ANSWER: Pyotr (or Peter) Tchaikovsky
BONUS 55
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION.  Consider the following 8 numbers:  10, 20, 40, 60, 100, 10, 30, 50.  Now:

A.
Find the median and mode.


ANSWER:  the median is 35 ;  the mode is 10
B.
Find the mean.


ANSWER:  40
C.
If you throw out the lowest and highest numbers what are the new median and mean?


ANSWER:  the new median is 35;  the new mean is 35
D.
What single number would you add to the original 8 numbers for the mean to be 51?


ANSWER:  139
TOSSUP 56
LANGUAGE ARTS-Foreign language

This language has three writing systems: hiragana, to spell out native words, katakana, to spell out foreign loanwords, and kanji, which are borrowed Chinese characters. What is this language spoken in Osaka and Tokyo? 


ANSWER: Japanese
BONUS 56
MISCELLANEOUS-Current events

Given a country, name its head of government. 

A.
Canada.

ANSWER: Stephen Harper


B.
Mexico.

ANSWER: Felipe Calderón
C.
United Kingdom.
ANSWER: Gordon Brown
D.
Germany.

ANSWER: Angela Merkel
TOSSUP 57
LITERATURE-World literature
With one exception, he only published short stories like ‘The Judgment’ and ‘In the Penal Colony’ during his lifetime. After his 1924 death, what Czech author’s agent published the novels Amerika, The Castle, and The Trial? 

ANSWER: Franz Kafka
BONUS 57
SOCIAL STUDIES-US history

Answer these questions about the 1920s. 

A.
Who won the 1920 Presidential election?


ANSWER: Warren G. Harding
B.
Harding proposed a return to – what word coined for the campaign? 


ANSWER: normalcy

C.
In 1925, what biology teacher in Dayton, Tennessee was found guilty of teaching evolution?


ANSWER: John Scopes
D.
What Vice-President between 1925 and 1929 proposed a plan by which Germany could make its war reparations? 


ANSWER: Charles Dawes
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